BUfHT FIE

O %A ~ OB
—FEY A Fe~vT 2 M
YT, rRUN~T
FEMNBHRUH LTV
ATRVIEY i S B TR S
NE XTI 1.5mm DL B
Eb®bz L,

IN—> 1) X K
cwIINTFT T P R— X

s wIILFv T FANR—H—

« M3x7,8 SRAINAFEMLA L B 2 E)
« M3x4,5,6 NI TRV NE 2 #)

At b

https://rs-giken.com/?page_id=1000

@ <= v v OBt
L.NEB A T DL F L
(Y DBNDO T, Byl
BT DH L AL
QYT IR—A X AT A
NIZEE S
BNERA T ZHJTIZE LT~
7Y NOEERY E KO
5o (R V1L Glock ARAKRIZAT
WTW2h D &2 fEH)
4AEL D ASHHIZEE R L= %
VCT YL R AR &
WA M2 TS



Installation Procedure

(D Temporary Installation
Attach the sight to the mount
temporarily and ensure that the
screws are not protruding from
the back of the mount. *Make
sure the screw holes and screws

engage by at least 1.5mm.

Parts list:
* Multi-mount base
* Multi-mount spacer
+ M3x7,8 Hexagon Socket Head Cap
Screw (2 each)
* M3x4,5,6 Hexagon Socket Head Screw
(2 each)

Description Site

https://rs-giken.com/?page_id=1000

(2 Mount Installation

1. Remove the internal mechanism.
(It 1s recommended to refer to
videos or other resources for
guidance as some skill may be

required.)
2. Place the mount base on the slide.

3. Restore the internal mechanism
and tighten the mounting screws.
(Use the screws that were originally

on the Glock body.)

4. Attach the mount spacer and
sight using the screws used for
temporary installation.



